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Questions

World's per square Km population density is:

River valleys of world, which possesses fertile plains:

World's population in Mid-2016 is became:

According to 2016 estimates, world's 59.8 percent population is:

World's 98.7 percent children births are taking place in:

World population is annually increasing by:

At the time of agricultural revolution, would population was:

When did world population became 6 billion ?

Which continent is very thinly populated:

The continent of Antarctica and Greenland are:

Which continent is most thickly populated:

World's per square mile population density is:

How many percentage area of the world is barren:

World's 30 percent population is:

World's extremely hot, extremely humid, extremely cold and swampy areas:
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A
B
C
D
A
B
C
D
A
B
C
D. 50 people
A
B
C
D
A
B
C
D
A
B

. 500 people
. 300 people
. 54.3 people
. 50 people

. Are very thinly populated

. Are very thickly populated

. Are almost totally unhabited
. Thinly populated

10 billion

15 billion
7.418 billion
6 billion

In Australian continent

In continent of asia

In continent of Europe

In continent of South America

African countries

Asian countries

Australia

Under developed countries

15 million people

more than 89,795 million people
100 million people

A few million people

One billion
Only few lacs
About 80 lac
20 lac

12th October, 1999
December 2000
January 2004

June 1995

Asia
Europe
Africa
Australia

. Almost totally uninhabited
. Thickly populated

. Moderately populated

. Very thickly populated

. Asia

. Africa

. Australia

. South America

. 500 people
. 300 people
. 120 people

. 20 percent
. 40 percent
. 80 percent
. 10 percent

. Less than 15 years old

. More than 65 years old
. More than 15 years old
. Less than 40 years old

. Are thickly populated

. Are very thickly populated

. Are uninhabited

. Are very very thickly populated






